0,70

0,70—++

0,8

0,10

49
2,00 2,00 1,0.

18

0,26 0,10

mAdTOG 13,000.

18,40

OAOZ TYNAAAOY

1,11

3.8 0,10

0,10

90

++—0,80

#—0,

0,

10

NEZOAPOMOZ ®APMAKIAQY

0,03

40,0 R

5,86 N 15,55 ; 14,86 +

g 0,10 " 0,10 B 0,10

8,36 0,76+ 3,50 10— 3,00 1,05 ¢ 2,00 . 1,2 . 2,50 10,370+ 1,3 . 3,00 . 2,65 : 00 . 46 H

|
15,55 "
s 3,63 11,59
I EZOITHL
EZQITHE B &
o
473 4,25 617 'mN
C °
st
Mosroer | | | Bedommamer———————————————am e e

,,,,,,,,,,,,,,, oo Meamot J L ot 5 bl
3.59 4,24 o Q
X X = Y < T

777777777777777 R I ik _ i

3,59 b |

I EzozHs

3 3 | AR, S
" "~ [| o

1

TNNOAQMATIO TNNOAQMATIO KAGILTIKO [|

o 1}

o 4
<
=)

o
o o
oY <1
& 2.76 S o ©
) G 2.
¥
w | a3
,85x2,20 5%2,2 0 ‘i E:L‘ i 2,07—+
TNNOAQMATIO : Ill LLLLLLL - |
Il %
AOTTPO AOTTPO o
! I
3 3 A0
o o
=1l ;
R KOYZINA )
T T 5 T
3,01 (1 52 ! 2
L 2,25 |-0,63 l t 5,56 10, s
r—k = 5]
) o 3
——————————————— e ] e | e - ,): b == —mmmm e e L i_x/4,eo*2ﬁ& L sl
o) R T R R o o Tx & 8T (=]
= : =
b o i i -
o I
« [ I 2,98 .
3 [ | N )
| - b ! = -
! 1o |
I J | g N, U
| -
| -~ — 4
| : RoEaspvEs
1 _ — — $pedtio= ~ _
o
Q
g
=
s N 4 ~
+9,30(teA. oT@OUN) >
TR e AT A +22,41
. 9 -
N TR T EZQSTHE )
N </ 7 Voo N S
>< [ I N g @
. N FokF-F—F-—-A S
s N \ [ N
S EmorThE , N N N ]
) 4 ~ T .
E)
S|
Q
—
L g
APX1/KO >TOIXEIO T
.
RE067/12 ( y 4
EZQITHE o
I
o
T - e — ... S }—0,72—]
@ [MXY_2.00x2.30
MNOAIA 0,10
5
L 8 e
L ————— EZQITHE e 8 EZQETHE
80F =~~~ _ b 3,19 3,80 7,53
oplo e€aTn 1/4X6 Tm—e 6,63 | 14,93 B
. I T
evrog 6 = 3,85/4=0,96 - L
0,10 0,10 0,10 0,10 0,07 0,10 0,10 0,10 0,70 0,10
0,704+ 4,28 . 3,50 +0,604+0,61—+ 2,00 0,78 14t 1,80 : 1,55 . 00 1,064+ 1,95 1,00 2,00 +—0,74—4+0,56-+ 2,60 2 1,80 : 1,4 . 1,80 . 4,56 140,400+
+—0,80—+ 8,48 £ 3,59 + 58 £ 1,95 + 3,95 + 14,0 +0,50+
r 40,8 :

3,70

3,61

17,04

OAOZ ZAMMNEAIOY

nEzoApoMOZ

KATOWH 3ou OPO®QOY
KAIMAKA 1:100



